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2 4,963,950 4,860,130 93,820
=qz 29 626,442 608,933 17,509
ZeAE=RIZ 2Y 199,708 208,199 £8,491
201 sty 124,243 129, 174 £4,931
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= 1,831,981 1,831,831 150
SHEY AL NA 7,33 8,150 A815
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—&==9 80,000 x6ZH+90% 432 480 YaV:3]
—cl= B00R 200 +90% 108 120 A2
OJIEt &AL 25 FY(BEE, 22X &)
530,000 #90% 477 530 AB3
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—ARIEE S RXHMIE
50,0003 x80EH *90% 3,600 4,000 A400
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T 95,200 84,541 10,659
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HEOSHL XA 1,670 1,762 AR
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i 300 0 300
01 AtR2telb] 3,000 0 3,000
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i 92,962 75,904 17,058
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KESAR Ha=1= 2,200 2,200 0
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01 M=4l 19,000 20,000 A1,000
OSY t=sd=ULsH A
2,000,000 *107H A*05% 19,000 20,000 21,000
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= 6,000 6,000 0
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(= 6,000 6,000 0
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[ias 36,200 15,300 20,900
201 L2 3,000 6,300 A3,300
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= 1,040 1,260 N220
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O2023& XIS ALS| MHIASE XA 50 0 50
02023 OIAHHIXI &AL 2,810 0 2,810
020234 MASAE esrztla NEA 325 0 325
020238 ARISXZE2HE 2= & 2H5HA
& 650 0 650
020238 X+ SAHHIE RCIUI0IE 2124 0l
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